Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V EXAMINATION -WINTER - 2018

Subject Code: 3350604 Date: 04-12-2018
Subject Name: ESTIMATING , COSTING & VALUATION
Time: 10:30 AM TO 01:30 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. e2HiZl s1HUBL Ald<l syALoL HALUL
1.  Give unit of measurement for following items.
(i) R.C.C. Slab (ii) Rain water pipe (iii) Wooden frame for door (iv) Wash basin
1 <dlRAedl 2AS2HL HIZAL HIUAL DISHL UL
(1) wRALL 2dot (2)azalel welldl wdu (3) il HI2 alssidl 34 (¥) dla
o1l
State the purpose of preparing estimate for building.
Ul Hi2 2UR2H2 dAIR 5391l G4 sy RUAL

Define: Contingencies, Provisional Sum

AquAL UL sElorrilo, UilAodd Uu

List the details which are available from sectional drawing.
Ase4d glsomigdl Hodl (Fatdl <L A1El il

State different over head charges.
(A5 Us12AIIAR S8 AR syRUAl,
Give the multiplying factor for painting of (i) Paneled and framed door (ii)Steel
doors & windows(plain sheets) (iii) Collapsible gate (iv) M.S. Grill
5E2 511 HI2el ARLSL 2UUL (1) UG Bieg 548 SR () 2214 <Al 22917 24 U] (LA
2fl2) (3) sierellera Az () AnU.Ba
State the qualities of good estimator.
AUIRL BIEISH 5121 ARAHL 67 BLLAL.
8.  Write service unit for following structures:
(i) Prison (ii) Canal (iii) Water tank (iv) Hospital
¢ <dlEdl 2252 HizdL uldu 2isHl avl,
(1) o4 (2) 54U (3) Wbl 2isl () silRuea
9.  Define: Lead and Lift.(w. r. t. Earth work)
. AL B LS 2 (A2 (HIZL5IH L 2eaiuT)
10.  Calculate the quantity of material for 1m3concrete work of proportion 1:2:4
10, 4 ae Hl 5512 siALt oy uHeL L2 oy 32l Mgl auvidl 3.
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Q.2 Calculate the quantity for following (a), (b) and (c) from Fig. No. 1 of
Residential building.
URAL R 265181l Hl HIZ 2H1g[A <L q Higll {12l (21),(01) vte (5)<il AL 2012l 53,

Excavation for foundation.
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YIAL HL2e], LBl

OR
1% class brick masonry work in 1:6 CM for foundation up to plinth.
il ) [Veiz Yl uam 49l 4 1:6 CMHI 62 2ABLdR 514,

B.B.C.C.(1:4:8) for footing.

slea iz ofl.ofl. 2l . (1:w: ).
OR

Earth filling in plinth.

[Teiay 1i w2l yzual,

R.C.C. Lintel (15 cm. Th.) and R.C.C. Slab (10 cm Th.) in 1:2:4

wRALAUL[Eza(Tud L) viaziz bl 2o (1 oddlonad) 42y UHBmI
OR

12mm Th. Smooth cements plaster on wall of drawing and Verandah.

$1591 31 vt 9381l [2and Guz 2 HlHl g dlHez vaizez,

State types of specification and explain any one.
[A928L Al UsI12L 7 BLLAL DA 516 UBL 2A5 AHMAL
OR
Write detail specification for R.C.C. slab (12 cm Th.) in 1:2:4 proportion.
wRALAL a0t (12 AHL 2D ) Ald: 2y UHIELHIZ [GadaR [Faze v,

State the factors affecting the rate analysis of an item of works.
S1HeAL DUHZHL AL FUA Y2520 GUR 2142 5241 W[Ro101 syrLdl.

OR
Define: Task work, Day work. State factors affecting the Task work.
ALUAL UL 2125 45, S A5, 2125 A5 GUL 244 521 URotull sxpAl.

Draw and write the formula for C/S area of Two level section for hill side Road
in filling.
[3Q 2158 28 HIZ YA 1A AL 2HLS 92 2121 DAel dedl AULE98<] AA5N AHAALL YA
SICT

OR
State the principles of writing specifications.

(a6l @mal Mzl [REidl sreudl.
Derive rate analysis for 12mm Th. Cement plasters in 1:6 CM on walls.

[Beiet Guael 4 24l 81D 2{lHez 122 1:5 CM HI2 *ld Yeas2il
Y2520 521,

OR
Derive rate analysis for Cement concrete of 1:4:8 in foundation.

UPAHL M2 5151241 171 ¢ UHIBHIZ ®UA Y2520 52

State deduction rules for plaster work and brick work.
G223 5TH el ABLAR 511 HIZAL 6lLE HIUAAL (AL syoual,
OR
State the methods of approximate estimation and explain any one.
2122 UL 2iElsy 51241l <ldL orRual i 516 URL 2i5 U1l

A machine is purchased at the cost of Rs. 1, 20,000/-. Scrap value of machine after
the end of life 20 years is 10% of the cost of machine. Calculate the book value of
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machine after 10 years. Use Constant percentage method.
25 H2ld 3. 1,200,000 Hi Ve 536 £9. 2.0 AUAL AL GUE dell GOUR il [5Hd
Helldedl [EHdAL 10% 9. dl 10 Al olle Helldd Alugl Her iAl viamn 2511zl L <ld
Al GuAll 53,
OR
Calculate monthly rent of building from the following data.
(i) Cost of land Rs.600000/- (i) Cost of construction Rs.1000000/-
(iii) Total outgoings including S.F. are 18 % of gross rent.
(iv) Net return on construction cost is 10 % & on land cost is 5 %
<AL [Aordiniefl Hs1l HIRAs A1l apLdl s,
(1) or¥lAl [BHd 3. 2,00,000/-(2) stitsim <l (5Hd 3.40,00,000//-
(3) Rislo 58 uleel 5 [0l Wl = st ALl 1<%
() Alvvil a8 = olis1u <l [HdAL 10% w1 sxdlaedl [FHA4LU%
Calculate the quantity of steel for main bar in R.C.C. beam from given fig.No.2
215(d i, 2 uedl 2u.4LAL ollHeal Hud U1l Alvizel syl aadzl 520,

OR
Calculate the quantity of steel in footing of R.C.C. Column from given Fig.
No. 3.

215(d 0.3 uzedl 0.4l sidn g(2aL divigal oreaiel Bl s,

Find the quantity of earthwork for a road section from the following data by
Mid sectional Area method.
Ch.in | 0.0 |40 80 120 | 160 [ 200 |240 |280 |320
meter
R.L.of |51.0 |50.9 |50.5 |50.8 |50.6 |50.7 |51.2 |51.4|513
G.L.
Formation width of the road is 10 m., R.L. of formation level at 0.0 m. Ch. is
52.0, Downward gradient is 1:200, Side slop are 2:1 in banking and 1.5:1 in
cutting.
HE, 59, 50l Zld 2120 (1A 20U [Qardiuzal 208 Asaq Hiz |zl s <l afa
TR
Ch.in | 0.0 |[40 80 120 | 160 | 200 |240 |280 |320
meter
R.L.of |51.0 | 509 |50.5 |50.8 |50.6 |50.7 |51.2 |51.4|51.3
G.L
23 518l uglous 1o 4l2z, gleA-dl 0.0 Hl AHAR 22N UIbA GULS u.0 Hl,

AlAl d2zell 210 1:200, UL EL0L YABHE 2:9 el VUELRIML 1.U: 1 69,

Differentiate between (i) Scrap value-Salvage value (ii) Book value -Market
value

Aslad 520 (1) 25U AL -A1edsy 44 (1) AlULL ALY-61MR A&

A person purchases a house for Rs. 10, 00,000. The scrap value is 10% of its
construction cost. The useful life of building is 60 years. Considering the land cost
Rs.1,25,000 and rate of interest 9 %, Calculate the annual installment of sinking
fund.

215 4[5d 3. 10,00,000 /- Hi 42 W2 9, d<fl 25U A& oliHsIH [5Hd <Al 10% 9.
Ustee GUALIL 24 0 Al 9. ex3l Al [5HA 3. 4,211,000 Bid LSy £2 % < #A1<
4% Bl @il HIZ Al sl <l aptazl s3.

Calculate the quantity of (i) C.C. work and (ii) Form work for R.C.C. beam
from given Fig. 2.

215(d b 2 uedl 0Ll ollHAl(1) AlHez 5i5l2 244 (2) 519 45 <l aladl il
53l
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(d) Define: Depreciation and Obsolescence. Explain the methods of finding the 03
depreciation value of the property.
(8)  CUVAL HUL HAHEAA el 20UAAA, M5l 21aHA [SHA LAl <Ll BHMA, 03

Schedule of openings in Verandah as “W”

W3 W2
e | JoreTe ey
[ "
S SCHEDULE OF OPENINGS
’_A o4 ﬂ D =120x2.10m
7] KITECHEN/ : Dl =1.00x2.10m
Wi 3.0 X 4.0m ' DINING | | W2 D2 =0.75x2.10m

4.0 X 4.0m . MS=1.20x2.10m
== W =2.00x1.20m
fvmsony g s w e i W1=150x1.20m

Iso cB W2=120x1.00m
0. W3=120x1.20m
V =0.90x0.60 m
V1 =0.60 x 0.60 m

4
| CB =1.50x1.80m
;W' CB1=1.20x 1.80 m
i

4 BED
1
|

e W.C.
Vit I 1.5 X 1.0m

O =120x2.10m
M.S. Grill =2.0x 1.20 m
Take Bearing of Lintel 10 cm.

= D
: DRG.ROOM ||| |
: VERANDAH 4.0 X 6.0m ‘Wi
: 3.0 X 3.4m :
L =
B
MS #
= e =
— te — -
W
I \-20 é
B
G.F. PLAN
10 em. THICK —— SEC - ‘B: B’
BRICK PARAPET /
g |
= | TERRACE
0.lm — TN X S=— —
K 0.60 ﬁ I:ET?E::;(} R.C.C. LINTEL
! R !——1\ 15 em. THICK
i r-‘-:- Fi
= | nf | &= ==
3 W3 n W2
- |
]
5 cm. Thick
\ TILE BEDDING
g— _\\ = — = = == 5cm. D.PC.
AL\ == e
JMF LlOcnm Thick Jk 0.30

B.B.C.C. 0.30
0.40n
45 cm.
EARTH FILLING

SEC AT ‘A: A’ W W) P~ .-
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<2 Nos. 10 mm ¢
ANCHOR BARS

S Nos, T e
BENT UP BARS

A ANCHOR BARS
\£2 Nos. 10 mm ¢

2 Nos. 10 mm ¢
ANCHOR BARS

2 Nos. - T . .
_T 3 | SURRUPS "1
0.40 _I;E:!TTm ¢ \ / . | . §mm ¢
o r(‘ “|]@15¢em 0.98
_‘L BARS 4 4] e _J‘
0.2} = 2Nosq16 mm ¢ 4 2 Nos. {3 mm § —
i 1% m?:'q, 0-573'} | eeE'&uP }’— 0.57-—/(\\
ST. BARS i g e cent \ \ 2 Nos. 16 mm ¢
SEC. AA —b\~ BN SEC. BB
1.0.2). 400 0.2 1. oo
A A 1 A
SECTIONAL ELEVATION Fiqg. NO. 2l
— £ ——————————— S ¥ aammee -
| cm |‘—_L 6 Nos.
S 10 cm 16 mm ¢ bars
——40 cm—+
3 / T
Tiles 9 mm ¢ s { A _L
@ 15cmc/c S 33 m !
o\ —r ’ - —30cm—+
LA Section XX
k= 30 —

7/

12mmf @

70 cm
——-RCC work with c.c./ 1:2:4

20 cm

A SgneptiSt 3 e Letied] (10 cm
b 19mx1.6 m —H
Elevation Section
12 mm ¢
1| @15cmc/c
s Both ways =
i | 3 j _—:_.___.;_._IF 1.6 m '
X
= 1.9 m i

Base Srtee_l Plan
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